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Date of Examination : 07 February 2016 Sunday
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grerAtard IIAT / Guidelines for the Candidate
1. YA ATART d IRETT $HHATRRT 3cdl e A@rear @HEr e €ardar.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. YReT ge goargdl faegnedien carear dqot g @ sogrardr 30 fafae e 9 dvard
RECE

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. WX YRAYRTARHET THFUT 100 TR& I Tcdh JRAIST 2 0T 3R,
This question booklet contains 100 questions each question carries 2 marks.
4. I 9T ASA0T 9TF 3R, Tl SccRTagel fAasTeledT 0T gwcveué‘l YR I[0T TSIl shel
SAUIR TSN
All questions are compulsory. There is no negative marking.
5. 3NUcAr FEITE TRAYREHT [ASIeardr TET Seal el
Check to make sure that you have received the appropriate test booklet for your standard.
6. UIATATHEY Shddd Thd Jcadl SIS 3R, U Scaidrdr Tehd gy fagsmEr.
There is only one correct answer. Choose only one option for an answer.

7. 3T 9AT EIAUIATATS! hdes hIdl/ [T TIET STeldaTd a3,

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only: E.g. Visit www.rtsexam.com for Answer key after 8 days
Q. x : - Fill in the blanks.

My father went.........ccceeeveerreecnennne To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x . @ @

To option a) in the Answer Sheet

8. URET HUGATEX THH ScckuiIenl THAETHHS Tl .
Return the Answer Sheet to the invigilator at the end of the exam.
9. 3Muear URET HHAih TRAYRdHaY FeaT ToIgral  Hel TRAYEcehl TRET Hrellathic] 3TedT Fied =T

Write your Roll No. on the Question Paper too and take it home for future reference.




10.

11.

wIfaTor 2regram 3T 3R,

A) TeETAT B) TR C) g@egh D) #Tadrel
gcdl &1 grofy 3718,
A) BIeTEr B) UT&T C) AREET D) 37dTecd

‘HI' IT Userar FATTAf ersg fasr.
A) HTell B) HUT C) T D) UTBHIET

grelr feeledr 3rATaTST HIUTAT 3MeiehiReh 2eg ATIRT.
gy 3leerar feaw -

A) Giegrar fgaa B) GuTaT Gad
C) gHERHTT feaw D) g feaw

Trelleldehr 31eLe 2ee 3N
A) & B) forad C) gITE D) g

RAfera ar gserar (el eoee Agsr.
A) ST B) STIfcir C) SIeROT D) SR

GTellel JFIaRTT 37y f3aer.

CEHTST gIaor

A) & gXfaor B) SUccT gIoY

C) 917 gXfaor D) Tad: o 3g%sT Sror

Fill in the blanks with appropriate preposition.

Anvay killed two birds one stone.

A) By B) in C) with D) from

Choose the correct antonym of the word -

knowledge.
A) Senior B) Ignorance C) Industrious D) Feminine

Fill in the blanks with the most suitable conjunction.
My grandmother enjoys good health she is very old.
A) Although B) Since C) though D) as

Fill in the blanks with the most suitable article.
| need ohion and tomato for salad.
A) the, the B) an, a C) an, the D) the, a




12.

13.

14.

15.

16.

17.

18.

19.

20.

Mark the correct adjective of the given options.
A) Cowardly B) Belly C) Apply D) Beautiful

Fill in the blanks with suitable verb form from the options.
The sun is shining and the birds what a beautiful day!
A) are lending B) are putting C) are singing D) are standing

Choose the wrongly spelt word from the options:
A) Station B) Machine C) Skeleton D) Diarhea

Choose the correct collective noun to fill the blank.

A of bees.

A) hive B) herd C) bunch D) shoal
qa dr rareT femara.

A) qa-9TREH B) GTR=H-d

Q) 3cal-gieror D) ZieuT-3ca]

All stars appear to move from -

A) East to West B) West to East

C) North to South D) South to North

“ HYeAT FIATIT I T UhAd dRT 3"

g faursr e,

A) G B) 3T C) 37er: WX D) AT ATET
“ Sun is the only star in our Solar System” The above statement is

A) True B) False C) Partially true D) none of these
FIAT THUT febell IE 3EA?

A) 2 B) 4 C) 6 D) 8

How many planets are there in our Solar System?

A)2 B) 4 C)6 D) 8

‘FATIA TIIUTh G 3T IATIdIAT HIVTAT IITITAT FgUTATd?

A) HD B) &6 C) 9Tt D) %ol
Which part in the plant is called as “Kitchen of the plants”.
A) Rout B) Stem C) Leaves D) Flower

SR dT9HATIAIG WTellcTdehl ST IRUMH 38 ?

A) g 9guoT B) oTel HNUT

C) FeT JgyuT D) &deil JguuT
Global warming is the result of which one of the following.

A) Air Pollution B) Water Pollution
C) Soil Pollution D) Noise Pollution

( ., )
(L 2 )



Gl HUTr AT araaTddedr 3g?

A) dTofY B) %S C) @it D) adiel |
Which one of the following is the natural resource?
A) Water B) Wood C) Minerals D) all of these

Groirerdenr 3itwelr gaeadr ordr?

A) foie B) I[ellel c) g D) 31
Which one of the following is a herb?
A) Neem B) Rose C) Lemon D) Grass

RRIIT Td FET fFIF0T FHEar.

A) 3k B) #Hg C) g D) HIUTH
Which of the following controls our body.
A) Head B) Brain C) Heart D) Man

Tl ‘& forasrdearan Spte AT HoTar?

A) HH B) 3TTdaT C) gur D) adiel |a
Which one of the following is the rich source of vitamin C ?
A) Meat B) Amla C) Milk D) All of these

GroleTdehr ouqori 3STE{0T ShIvTa?

A) €T B) g¥ OREEG NERGRSE]
Which one of the following is an example of gas?

A) Smoke B) Milk C) Diesel D) All of these
SR HROT HIUTAT?

A) HHEH T B) AT dle

C) RS ar D) ailel 9

Which one of the following are causes of drought?

A) Less Rainfall B) High Temperature

C) Dry Winds D) all of these

ool ol ASTvI FaTd gl Tehah IUTA?

A) HErHTEI(THT) B) el (=)

C) forelifAeY (fore) D) fAeX (fA)

What is the smallest measurement unit of the length?

A) centimeter (cm) B) millimeter meter (mm)
C) kilometer (Km) D) meter (m)




28.

29.

30.

31.

32.

33.

34.

GrelloTdehr A9reT [ FHIoTa?

A) 8T B) TqH C) 39
Which one of the following is a cash crop?

A) Tea B) Cotton C) Sugarcane
A) gdr B) GTUfY C) AT
Dysentery is caused by polluted

A) Air B) Water C) Soil

Grelledehl HaTeIeh YAl SHIVTeAT YerTest AT ?

A) TS B) diga c) |
Which one of the following is a rich source of proteins?
A) Soyabean B) Rice C) Chips

Grelledeh! HHHAST HYUehET SISt HIoTer
A) Z3nfor B) = 3mfor o C) - 3mor 2

Which one of the following is the pair of equivalent fraction?

A) %And % B) gandg C) gand%

Y.y - TATT HA TAgTT?
A) 257 257 257

1000 B) 10 C 100

Convert the decimal 25.7 into fraction?

257 257 257
A) 1000 B) 10 C 100

SR A=25.36 371707 B=32.31. a¥ 2A+B d fhAd fhrdl?
A) 83.03 B) 81.03 C) 28.31

A=25.36 and B=32.31. Find the value of 2A + B.
A) 83.03 B) 81.03 C) 28.31

D) a0 &

D) all of these

D) ITdhr ATET

D) none of these

D) grar

D) Dosa

1 3
D)3 5

D)%and%

257
10000

257

D) 10000

D) 30.38

D) 30.38

13, 39 3o 78 Ir=ar F@rfa 3fOr FAGIfa AT e fordr?

A) 13 B) 39 C) 65

Find the difference between L.C.M. and H.C.F. of 13, 39 and 78.

A) 13 B) 39 C) 65

D) 78

D) 78




35.

36.

37.

38.

39.

40.

SR 28 Ufeder oY FAT 68 T T 30 Ul o fFAT 128 &. 3ME oX 6 UfedoT T 7 UaT=il
ToT fhAd faRei?
A) Rs 44.43 B) Rs 18.75 C) Rs 54.50 D) Rs 46.90

The cost of 28 Pencils is Rs.68 and 30 Pens is Rs.128. Find the cost of 6 Pencils and 7 Pens?

A) Rs 44.43 B) Rs 18.75 C) Rs 54.50 D) Rs 46.90
iz,

34 1 3 1

— X === ) -_ =7

7 2 2 2

42 23 47 3
A) - B) — C)— D) 2

47 43 42 4
Simplify,

3 1.3 ) - 1.,

7 2 2 2

42 23 47 3
A) = B) = C) D)7

47 43 42 4
GTollel TAITYH &TAtha HIOTA?
Which has the greatest area among the following?
A) B) C) D)
Grefler M eAed Pepiorh F&ar fhdr?
A) 8 B) 10 )9 D) 11
How many triangles are there in the following figure.
A) 8 B) 10 )9 D) 11
456.5 T 36.32 IT Gl TE&IT Al W fohcl?
A) 420.18 B) 520.18 C) 620.18 D) 791.34
Find the difference between 456.5 and 36.32
A) 420.18 B) 520.18 C) 620.18 D) 791.34
11.1+11.1+11.111 +11.1111 =7?
A) 44.4321 B) 44.1111 C)44.1234 D) 44.4012




41.

42.

43.

44.

45.

46.

47.

48.

246 TIT 14 % FEUTA?
Calculate, 14% of 2467

A) 34 B) 34.44 C) 35 D) 37
e 9AT AT

A) 1.3749 < 1.0399 B) 1.7908 < 1.879

C) 1.526 < 1.2605 D) 1.463 < 1.3902

Which is true?

A) 1.3749 < 1.0399 B) 1.7908 < 1.879

C) 1.526 < 1.2605 D) 1.463 < 1.3902

SR 12 forex gumre fhaAd 120 . 3@ o 5 Ty guramdy fahel 49 e wmereiter.
A) 15 T B) 25 ¥ C) 50 ¥ D) ITdhr ATEr

If 12 liters of milk costs Rs 120 then what is the cost of 5 liters of milk?

A) Rs 15 B) Rs 25 C) Rs 50 D) none of these

TrolTeldeh! Tehl WIS AT Tolel hIuTd?

A) 7 et B) 7 fhellarer C) 70 3H D) 7 &Y
Which of these measurement best describes the weight of one apple?

A) 7 liters B) 7 Kilogram C) 70 Gram D)7 CM
Shailcehlclel SR A= @roft 31 d.

A) JUTR B) fagrufY C) d&g D) fasqY
In which part of the Karnataka Gold mines are located?

A) Lonar B) Nipani C) Belgaon D) Vijapur

GrelTeldehl IUTd QG HATfed! dTAATT hg, ATar?

A) STRT B) BaTeTg C) gor D) Teelg
Which one of the following cities is not a information technology center?

A) Bangalore B) Hyderabad C) Pune D) Chennai
GoNTgl § Tdes U@ qEY TR,

A) HERISC B) ISIEATT C) FLIUCA D) ISRTd
The famous tourist place Khajuraho is located in .

A) Maharashtra B) Rajasthan C) Madhya Pradesh D) Gujrat

gAY THUT fohell &1 dlcddclel caTdolel 31872
1 1 1
A) B) 03 D)

How much of the earth’s land surface is desert?
1 1 1
A) 5 B) ¢ Q) 3 D)




49.

50.

51.

52.

53.

54.

55.

56.

RIS FaTd SEd 913y I g=ar.
A) FEETTH B) HBIEdaT C) @eer

Which one of the following is the wettest in India?

A) Mawsynram B) Mahabaleshwar  C) Shimla
HRA afgell 3707 =maofr A gl
A) TYROT B) 9IERUT C) STAEY AR

India’s first nuclear test was conducted in?

A) Champaran B) Pokhran C) Jawhar Sagar
ALY YTedd ATIGT FIS 37

A) HeS B) ST C) fasrarsT
The headquarter of the central Railway is at?

A) Mumbai B) Jaipur C) Vijaywada
RISl 3ol JHE@ FAIT HI0T?

A) gfer B) Shalce C) Ag
What is the main sournce of energy in our diet?

A) Proteins B) Carbohydrates C) fats
AT Hald 39 €07 HI0TA?

A) TSR B) :ﬁgg C) HIIaAT
Which dam of India is the highest?

A) Bhakra B) Mettur C) Koyana

GTelloldehl HIUTT Th dodeild HIRTT 38?
A) STCIGIART B) IMEHRT C) FIse

Which one of the following is a wild life sanctuary?

A) Jaldapara B) Garumara C) Corbett
fer gehed Sda f&ud g,
A) GTe=T B) G C) H=ATSIG
TISCO plant is located near?

A) Patna B) Darbhanga C) Dhanabad

FEME Sod SATQUATAT HRETAT his 3T ?
A) WIFT B) GRTOTHT C) RIcaara

Railway coaches are manufactured at?

A) Perambur B) Varanasi C) Chittaranjan

D) TRIYSH

D) Cherrapuniji

D) ARTR

D) Tarapur

D) AT

D) Nagpur

D) Siasidcca

D) Vitamins

D) ARSI

D) Nagarjun

D) aliel Od

D) all of these

D) TR

D) Tatanagar

D) STHRIGH

D) Jamshedpur




57.

58.

59.

60.

61.

62.

63.

HRATATS gfgell Yoo rell T STl

S

A) 1833 B) 1853 C) 1861 D) 1857
The first railway line in India?
A) 1833 B) 1853 C) 1861 D) 1857

I GIErT TATYAT hegl d hiS SATell?

A) AR, 1913 B) ®Sel, 1917

C) 3AHTH, 1921 D) E&hieels, 1925
Where and when was the Ghadar Party founded?

A) America, 1913 B) Englad, 1917

C) Denmark, 1921 D) Scottland, 1925

ST BIBUIT chegl SITelT?

A) 1905 B) 1907 C) 1905 D) 1911
When did the partition of Bengal take place?
A) 1905 B) 1907 C) 1905 D) 1911

HRAT Aaed 9T EeaRIT HIT gIa?

A) dis dadT B) Toldec Tcoll

C) dIs SIglal D) olis HAT3cdes
Who was the last British Vicerory of India?

A) Lord Wavell B) Clement Atlee

C) Lord Dolhousie D) Lord Mountbatten

@ AN Ta9er Sl aHel?

A) anfde f&a B) JhRIA C) el D) gialide

Who founded Sikhism?

A) Govind Singh B) Tukaram C) Nanak D) Hargovind

AT WiTAT FHIUIY Al HIom grdr?

INCIERIEG B) dIls Solglall C) dis aéish D) ¥l Shotel

Which governor general is associated with doctrine of lapse?

A) Lord Ripon B) Lord Dalhousie C) Lord Bentik D) Lord Curzon

arst AT FE gE el

A) 12 ATT 1930 B) 14 AT 1932

C) 11 AT 1930 D) 22 STHIaRT 1932
The Dandi march was inaugurated on

A) 12 March1930 B) 14 March 1932
C) 11 March 1930 D) 22 January 1932




64.

65.

66.

67.

68.

69.

70.

71.

s¥e 3f3ar FUeel 3MTell Ufgell SAURY JHIET SIS THTT?

A) SHTellehcl B) §X C) HS D) IS
The East India Company had their first trading post at

A) Calicut B) Surat C) Mumbai D) Keral
A=A Uige Ig HTell ST.

A) 1912 B) 1857 C) 1856 D) 1858
The First war of Independence took place in the year

A) 1912 B) 1857 C) 1856 D) 1858
GrelleTdehl HIVTAT Teh SIS SRR 31?2

A) FIF - D B) ¥RdelcTA - 3Ram

C) HLUF - TUYSA D) FYST - ATfHeBTg
Which one of the following pairs is correctly matched?

A) Kathakali — Kerala B) Bharatnatyam — Orissa

C) Katthak — Andhra Pradesh D) Kuchipudi — Tamil Nadu

SITATAGTAT ST §cATHISIT hIUT FdEER 3Tg?
A) STellel 3R B) oIl holel C) SR IS D) ITT ATEY

Who is associated with Jallianwala Bagh massacre?
A) Genral Dyer B) Lord Curzon C) Genral Lord D) none of these

ARATATS HaTd AT ASTEIAT T HIvTd?

A) 30O Weer  B) T&fGwsd c) fAse D) 3caRI&@s
The least populated state of India is?
A) Arunachal Pradesh B) Sikkim C) Mizoram D) Uttrakhand

Grelledehl T SFAT el Tl TIHWOT RWERRTA HeATAT HIUIT 3Tell?

A) 3R T B) HEY g C) fefoT $AR D) 3T gaITOT
Who among the following persons has been conferred with the Padma Vibhushan recently?
A) Amir Khan B) Mahesh bhatt C) Dilip Kumar D) Ajay Devgan

IR FaTfter TeRAY THUT Tl T HIUTa?

A) dTfADATg B) D C) HAGRTS D) fAsire
Which state in India has the Highest literacy rate?

A) Tamilnadu B) Keral C) Maharashtra D) Mizoram
TARASET AT Gaq@ Hrordr?

A) 8 HATI B) 28 Ul C) 9 =T D) 8H
When is International Women’s day?

A) 8 March B) 28 April C) 9 June D) 8 May




72.

73.

74.

75.

76.

77.

78.

79.

BEgH T FEATTH HI0T ITec?

A) HIh SRS B) oI 9T C) #ASH el D) HATIHIETFC
The founder of Facebook is
A) Mark Zuckerburg B) Larry Page C) Mike John D) Microsoft

SHel o qUT & FH1T 3172

A) Solfdce AT B) Solacifeldh Hol
C) SolFgIHIeICh Hol D) aIel ¥q

The full form of e-mail is

A) Electric Mail B) Electronic Mail
C) Electromagnetic Mail D) All of these

el 2016 TAT 3iTellUer WA AT HIUTAT 20T BV 3TR?

A) FARIES fharsA B) sreiier C) Scoll D) A
Which of the following countries is the host of 2016 Olympic Games?
A) United Kingdom  B) Brazil C) ltaly D) China

GreloTdhl HUTarT gerey =Ter?

A) grofr B) %S C) Fesh D) 37T<iG,
Which one of the following is not a matter?
A) Water B) Wood C) Insect D) Happiness

GrolTeldeh! TIIEOTRT 9roft shiordar?

A) |9 B) I C) Hrad D) adIel &4
Identify the reptile from the following.
A) Snake B) Spider C) Tortoise D) All of these

&7 ARATdTT &%l Fald Hor fSiegr 378,

A) TER B) ol C) g&ar D) ¥g WSTE
Which is India’s largest district (care wises) ?
A) Bastar B) Kachchh C) Burdwan D) Leh-Laddakh

ETaUT RIS TaTd ol ST IuTAr?

A) &M B) FTaxT C) IMGrasr D) drdr
is the largest river of south India.
A) Ganga B) Kaveri C) Godavari D) Tapi

faege errclier aRomaE HoTd?

A) SgleT B) 3IFI3R C) HIalH D) d¢
What is the unit for the measurement of Electricity?
A) Volt B) Ampere C) Coloum D) Watt

( 1
U



80.

81.

82.

83.

84.

85.

HERTSCIAT STl SI0TAT?

A) FATITR B) gor C) 3RaTeTG
Which is the Capital of Maharashtra?

A) Nagpur B) Pune C) Aurangabad
HERTSE SUHTIHAT HI0T 3HTgA?

A) 3T 9ar B) UchelTd WSH
C) dgehld Irerel D) ITdhr ATEYr
Who is the Deputy Chief minister of Maharashtra state?

A) Ajit Pawar B) Eknath Khadse
C) Chandrkant Patil D) None of these

Grelol AT T egr=ar AU TE&AT HIUTAT?

3|7 1

2 4 | 6

7 0 5
A) 6 B)7 C)8
Which is the missing number in number matrix?
A)6 B)7 C)8

D) Ha$

D) Mumbai

D) 9

D) 9

qélel FATHE afged el geran ST Teer 300g, dard & faa=ar g gestaegrear
SR 3T UGHET g 8T Y JI8Td U3 92 RIegredr Sref AR 3ca} QM.

Identify the relation between each of the given pair on either side of :: and find the missing figure/

term.

9:89:100:7

A) 901 B) 1009 C) 10008
AD:EH:QT:?

A) RS B) UX C) VW

Bﬂﬁﬁw:ﬁﬁﬂﬁﬁ::gﬁl:?

A) HIsor B) folex C) 231y
Vegetables : Kilogram :: Milk : ?
A) Measure B) Litre C) Dairy

11

D) 9999

D) JK

D) M

D) Cow

——
| —



86.

87.

88.

Grellel 9T JTehclIY RISl gfafers e,

TR 3Tl 3cel 3Tl
') ® © Il ® 'l 4
A) B) Q) D)
Find the mirror image of the question figure from the option
Question Figure Answer Figure
F‘ - ‘q ®
~ © ®» © D ®
A) B) 0 D)

Number of triangles in the figure given below is

A) 10 B) 9 )8 D) 11

Grellel 92T JTehcllel aTodTciel FfdaAT Qe
URET 3Rl 3cdX 3THlr

A) B) C) D)

Find the water image of the question figure from the option
Question Figure Answer Figure

A) B) C) D)




89.

90.

91.

92.

93.

GTellel AT AMIT HH oITdT.

1. S=H 2. HAIM 3. QMM 4. AT 5. fRrgor
A) 2,3,1,5,4 B) 2,1,3,4,5 C)1,2,3,5,4 D) 2,1,5,3,4

Arrange the following words in a logical sequence.

1. Birth 2. Child 3. School 4. Job 5. Education
A) 2,3,1,5,4 B) 2,1,3,4,5 C)1,2,3,54 D) 2,1,5,3,4

21 Tt v TEId 39 M. feush ALHEN 3T 3¢ N AT STdlehgsl d 3oTdlehss]
$HHR HIUTAT?

A) 124dr B) 10 dar C) 11 dar D) odr

21 Students are standing in a line. Deepak is in the middle What is his position from the left as well
as right?

A) 12t B) 10t C) 11t D) 9t

g T fager

Find the odd man out.

A) B) Q) D)

@refer arerell gEIrd Ay fAgsr.
STeary, &, Sl
A) ShsfardY B) TRl C) 3R D) @

Find the word that belongs to the group.
January, May, July,
A) February B) April C) August D) September

2006 ALY FollHccleh fead AT gl X 2007 ALY H0TAT feadly 3rder?

A) rfaarR B) IdaR C) YshaR D) AHAR
Republic day in the year 2006 fell on Thursday. On which day did it fall in the year 20077
A) Saturday B) Sunday C) Friday D) Monday

13

——
| —



94.

95.

96.

A) B) Q) D)

Which is the missing figure?
Question Figure Answer Figure

* | @)%
x| @5
* |k @ L v ©

A) B) C) D)

feerell 99T 3Tehell T ST 3MTehcilc odelell 3¢ ar T3y foasr.)

Identify in which of the following figures question figure is exactly embedded as one of its part?

9T 3Tl ESRICT)

Tl 318TATId M & 318 fohdl dar 37T 318 ?
MABCMDEFMCMXYZMABMHN
A)5 B) 6 Q)7 D)4

How many time M is appeared in the above letter series.
MABCMDEFMCMXYZMABMHN
A)5 B) 6 Q)7 D)4




97.

98.

99.

100.

Grelrerdhr fawerd 9a™r sHordar?

A) gor B) fewoll C) AT D) #HeS
Find the odd man out.
A) Pune B) Delhi C) Nagpur D) Mumbai

TUehl Hichfdeh ATYT METAL gT 2Teg NFUBM 3101 fafgard a¥ SILVER & UsE &ar folgrd.

If ‘METAL’ is coded as ‘NFUBM’ then ‘SILVER’ will be coded as
A) RHUKDQ B) TIMWFS C) TIMFWS D) RHKUDQ

Grellel 3hATod IMBolel Ug INT.
2,5,10,17, 26, 37, ?
A) 51 B) 50 C) 55 D) 65

Find the missing term in the given series.

2,5,10,17, 26, 37, ?

B) 51 B) 50 C) 55 D) 65

Grelledehl VT AcATHT ehcdTd UTeTd AT Hglcdd AoRT HI0AT HTell?
A) #I%g AT B) NG YAR

C) WITelehsoT 3Tsaroft D) JfaT Imedr

Who among the following leaders just celebrated his 75% birthday in a grand function.
A) Narendra Modi B) Sharad Pawar

C) Lalkrushna Adwani D) Sonia Gandhi

15
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